[L{¢ twL/ 9]
90S0a @S Wdz & |
{dzo 2S00 G2 Of
gAGK2dzi y2aC

Ct SEAO0fS S5NARGS /2dzL) Ay3as

NAOS [Aad

F Ayl f2e 02 dadh Aoy iF kXl 1 ypdeappre Msy s
| SAQDGAEAAZY 2F 52dz0Af S WIHK EN wyvitr2sNILI2YNI Joy2vE 2 8 9 O2 Y
/JLGFEf23 b2d [tmmnanp HAamMm al 3dylfze /[/2dz2) Ay3a /2




Ezicgnsloy

| 2 dzLJ Ay 3 2

I 1
Coupling | Std. Max Fé%k:e(;r;y Hub Only ttwe b i‘ - 9w i {1 DoY
Model No. Bore No Bore al 3yl tA 2¢ /A % dZI:JtA 7} y3 Lb{9v
Keyed YEe 68 &ALISOAUSR dzaiy3a i
100 11/8 $26.00 $21.00 F2NNIGY
288 132 223'88 222'88 {GFNI 6AGK GKS .1 &40 Ly
200 17/3 $52.00 $49.00 TzfvfMZzSR Ioe U0KS H RAZIAL
500 2318 | $73.00 | $68.00 O2 RSSeMT 11|
600 25/8 $113.00 $99.00
700 2718 $186.00 | $170.00
800 37/8 $344.00 | $319.00
900 43/4 $1,065.00| $952.00
Basic Neoprene Urethane Viton Hytrel Buna N EPDM
nsert | g | 5| |8 . . _ |3 gl 8.
Part No.| 8 List Price 8 List Price S List Price 8 List Price 8 List Price 8 List Price
M170 | N6| $5.00 | U9| $11.00 | V8| $40.00 | H5| $12.00 | B8| $9.00 | E8| $12.00
M270 | N6| $9.00 | U9| $13.00 | V8| $53.00 | H5| $14.00 | B8 | $11.00 | E8| $15.00
M370 | N6| $11.00 | U9| $17.00 | V8| $63.00 | H5| $18.00 | B8 | $14.00 | E8| $20.00
M470 | N7| $13.00 | U9| $23.00 | V8| $94.00 | H5| $25.00 | B8 | $19.00 | E8| $25.00
M570 | N7| $17.00 | U9| $29.00 | V8| $165.00 | H5| $33.00 | B8 | $23.00 | E8| $37.00
M670 | N7 | $24.00 | U9| $52.00 | V8| $203.00 | H5| $57.00 | B8 | $31.00 | E8| $50.00
M770 | N8| $46.00 | U9| $80.00 | V8| $451.00 | H5| $82.00 | B8 | $94.00 | E8| $69.00 —— 2 .
M870 | N8| $127.00| U9 | $129.00| V8 | $1,014.00, H5 | $135.00| B8 | $158.00| E8 | $194.00 { KERSR{ SNB{ Ul yR}I
M970 | N8| $145.00| U9 | $391.00| V8 |$2,828.00/ H5| N/A |B8| N/A | E8| N/A b2 ! RRAa2ylIl t [/:
al 3yl t2e a{iFyRIFENRE . 2NB ¢ al 3yl f2e a{idFyRIFIENRE . 2NB ¢
o o o o o o o o
e ey | Boreakey| 8 8|88 88|88 |Moo P poeakey 8|88 8|8 |8 8|8
M__ 01203 | 3/8x3/32 | o | O M 12414 1 3/4 x 7/16 o/o0|o|lo0]|oO
M__ 01403 | 7/16x3/32 | o | © M 12816 17/8x1/2 o [o oo |0 |oO
M___01404 | 7/16x1/8 | o | o M 130161 15/16 x 1/2 oo
M__ 01604 | 1/2x1/8 oo |o M 20016 2x1/2 o|lo|o|o|o
M__ 01804 | 9/16x1/8 | o | 0o | O M 20416 2 1/8 x 1/2 0o|lo oo |oO
M__ 02005 | 5/8x5/32 | o | o | o M 20816 2 1/4x 1/2 ololofolo
M___ 02006 | 5/8x3/16 | o |o | o | o M 21220 2 3/8 x 5/8 ololofo]o
M__ 02206 |11/16x3/16| o | o | o | o M 21620 2 1/2 x 5/8 o|lo oo
M_ 02404 | 3/4x1/8 o |0 | o0 M 22020 2 5/8 x 5/8 o|lo0 |0 |oO
M___02406 | 3/4x3/16 (o |o |0 [0 |0 | O M 22420 2 3/4 x5/8 oo |o
M__ 02806 | 7/8x3/16 [o |o |o |[o |0 | O M 22824 2 7/8 x 3/4 olo o
M__ 02808 | 7/8x1/4 oo o |ofo]o M 30024 3x3/4 oo
M__ 03008 | 15/16x1/4 | o | o | o M 30824 3 1/4 x 3/4 oo
M__ 10006 1x3/16 o|/o|o|of|o|o M 31228 33/8x7/8 oo
M__ 10008 1x1/4 o[o|o|ofo]o M 31628 3 1/2x7/8 o |o
M__ 10408 | 11/8x1/4 | o |o | o |o | o | o M 32028 35/8 x 7/8 oo
M__ 10608 | 13/16 x 1/4 0 0 M 32428 33/4x7/8 oo
M___10808 | 11/4x1/4 of[o|o oo M 32832 37/8x1 o|o
M___10810 | 11/4 x5/16 o0 |0|O0|O|O]| O M 40037 4x1 0
M__ 11210 | 13/8x5/16 o[o|o|ofo|o|o M 40432 41/8x1 o]
M__ 11212 | 13/8x3/8 o M 40832 4 1/4x1 0
M__ 11412 | 17/16 x 3/8 of[o o M 41232 43/8x1 o]
M___11610 | 11/2x5/16 o |0 |0 |oO M 41632 41/2x1 o)
M__ 11612 | 11/2x3/8 of[fo|o|o0of|o]oO M 416404 1/2 x1 1/4 (0]
M__ 12012 | 15/8x3/8 ofo|o|ofo]o M 420404 5/8 x 1 1/4 o
M__ 12412 | 13/4x3/8 oo |o|ofo M 424404 3/4x 1 1/4 )
t!we¢ b!la. 9wl 3yl Da¥ /2dzZX Ay3 1! . LI NI ydzYoSNE YIe 068 ALISOAUSR dzaai
{GF NI oREKSHEASHYSINIY I al Jytiz2es F2ft26SR 060& o RAIAGL az2RSt /2RSS owmn

al 3yl {28

S5AQGAAAZY 27

O 2 dzkdf Aoy 1T rd@ 2NX 1Ll 1 p&eappre MY IC: a
52dzZ0AE S WK EAG BBYMoRoNALIRYN Joy2l ff 2 & ®O2 Y]



[ LX Ay SR

{ LISOA I f 2NBa 9 52dzoftS {SG {ONXgsa
Coupling * Special & Double Set
Model No. | Metric Bore Screws
for $39.00 $28.00 {(t9/ L1 [ HONAWIDIAFE YI OKAYAY 3
200 $40.00 $30.00 ASNDABSAIGF LISNI 602NBax ayl Ll NAy3a INR2@Sa;
300 $50.00 $40.00 FLOAY3S ALISOAIE AATSR 1886Feas tyR 02d
400 57000 | $56.00 Lt GSNBR 08 FEOG2NB LISNI Odzai2YSNI &LISOA UO
500 $93.00 $78.00 < . p = . = . x =
600 $142.00 $117.00 OQYa?zfAu TI-OUQNJfCDA S:I;Ou%NJavﬂAft“ Ffaz2 02y
700 $220.00 $194.00 ANBLFUSN aKIy UKS adl yRFENR YIEAYdzY F2NJ
800 $379.00 $352.00
900 $1,106.00 | $1,074.00
Fo{LISOAI tOKIYNE S (INAND
{LISOALT -{@NPAENR2y2NB
F'yR YSégle /2YoAyla2yaz {GFyRINR
aSGNAO . 2NB s YSesleazr yR .2NBa {LXAYSR . 2NBaz {0GSSt dza K |
Stock Model Sizes
Standard Coupling Group A Group B Group C
Couplng | Splined Splined Steel Steel Steel Steel Steel Steel
Model Size Bore Bore Bushed Bushed Bushed Bushed Bushed Bushed
w/Clamp w/Clamp w/Clamp w/Clamp
100 $56.00 | $97.00 N/A N/A N/A N/A N/A N/A
200 $56.00 | $93.00 | $128.00| $177.00| N/A N/A N/A N/A
300 $67.00 | $104.00| $139.00( $188.00| N/A N/A N/A N/A
400 $82.00 | $119.00| $154.00| $203.00( N/A N/A N/A N/A
500 $100.00| $139.00( $178.00| $231.00| $192.00| $245.00| N/A N/A
600 $143.00| $189.00( $220.00| $277.00| $233.00| $292.00| N/A N/A
700 $215.00| $261.00| QUOTE QUOTE| $307.00| $366.00| N/A N/A
800 $542.00| $588.00) QUOTE QUOTE| $468.00| $527.00| $527.00| $586.00
900 N/A | QUOTE| QUOTE QUOTE| QUOTE QUOTE| QUOTE QUOTE

b20SY €#HRIOA2Y AT S { LI AySa bwvdR1 diin |

{LXAYSRKSZNREX BHY{IoONBE OKSA | NB I £ ¢
off dt @3 Cfl C2MR22GEKSNAREX ayb@s Standard Coupling Steel Bushed Coupling
Number of pitch Pf:gﬁzre SAE Di,:?rg[er Available |Stock Model Available | Stock Model S ©r
Teeth Designation Model Sizes Sizesl |Model Sizes Sizesl
(Degrees) (Inches)
9 16/32 30 A 0.625 100-900 100-400 200-900 200-400 A
13 8/16 30 D, E 1.75 400-900 400-700 600-900 600-800 B
13 16/32 30 B 0.875 100-900 100-500 300-900 300-500 A
14 12/24 30 C 1.25 200-900 200-700 500-900 500-700 B
15 16/32 30 BB 1 100-900 300-500 400-900 400-600 A
15 8/16 30 F 2 500-900 500-700 800-900 800 C
17 12/24 30 CcC 1.5 300-900 500-700 500-900 500-800 B
21 16/32 30 1.375 300-900 300-600 500-900 500, 600 B
23 16/32 30 15 300-900 500-600 500-900 500-700 B
27 16/32 30 1.75 400-900 500-700 600-900 600, 800 B
40 16/32 30 2.562 600-900 NONE 800-900 NONE C
M 02038 LINAOSA I NB T2N ALY AY-SRNDP2NEBENAY2RER/ ¥ABBAT[] OpyedA G2Ft G2 N

al 3yl fz2e

| S5APAEAAZY 27

O 2 dzkdf Ao YT ra@ 2nX 1Ll 1 p&e@ppHie My ICz a
52dZ0AL & WK EAKG RBYMoRoNALIRYNI Joy 2l f 2 & ® O 2 V|



st

)

G

. nul,@‘f

-

Hub Only

Standard Bore/Key

$14.00

Semi-Standard Bore/Keyf

$26.00

F
pn

.2NBkYSegl @

{-6%KYyRI NR
LA SOSax O2yadz

.2NBkYSe
FI OG2NE D
O2YaeQ@¥yadyd FIOOKE MIB B2 NI LINR OS

O2Y0AYloa2ya

P et

20 KSNJI

.2NBkYSe
YR

O2YoAyloez2yas O2y
FGFAtFrOoAEAGE D

Ly aSNIa
e | oy | st ece
PO97N7 Nitrile $5.00
P0O97U9 Urethane $10.00
PO97H5 Hytrel $11.00
PO97V8 Viton $40.00
{dFyRINR . 2NBkYSesle /2Y0AYyle2ya
ForAtrofS 6AGK ta ¢n a2RSt /2dz) Ay3
Part .
Bore Number of Set Screws *Set Screw Siz
Number
P090014N|7/16 - No Keyway Single Set Screw | 1/4 - 20 UNC
P09001403  7/16 x 3/32 Single Set Screw | 1/4 - 20 UNC
P09001404 7/16 x 1/8 Single Set Screw | 1/4 - 20 UNC
P09001604 1/2 x 1/8 Double Set Screw | 1/4 - 20 UNC
P09001804 9/16 x 1/8 Double Set Screw | 1/4 - 20 UNC
P09002005, 5/8 x 5/32 Double Set Screw | 1/4 - 20 UNC
P09002006 5/8 x 3/16 Double Set Screw | 1/4 - 20 UNC
P09002206 11/16 x 3/16 Double Set Screw | 1/4 - 20 UNC
P09002404 3/4 x1/8 Double Set Screw | 1/4 - 20 UNC
P09002406 3/4 x 3/16 Double Set Screw | 1/4 - 20 UNC
P09002806 7/8 x 3/16 Double Set Screw | 1/4 - 20 UNC
P09002808 7/8 x 1/4 Double Set Screw | 1/4 - 20 UNC
P09010006 1x3/16 Double Set Screw | 1/4 - 20 UNC
P09010008 1x1/4 Double Set Screw | 1/4 - 20 UNC
P09010408 11/8x1/4 Double Set Screw | 1/4 - 20 UNC
{KFRSR AGSYa-{1io¥y@E NRNF2NSYR pn / 2dzZL) Ay3Ta
F 52d0fS asSi aONBsa rNﬁﬁmap}miﬁ Q@QMH@K§y13§ﬁI®gmﬁﬁ\mmH AYOK Iyl
i YRSNI mkH AYOK | aAy3afS asSiu aONBg¢g Aada f20FUSR 0SU6SSY RNAGS f dzaa
hw§9WLbIVDALbChwa!¢I:th o 3 o A
2 KSY 2NRSNRMY3 cEi:‘ELJS ta |/ 2dzIrJf 7\)/3%12 ENRSNJ 0e | dzo | ){R gyésr\ug Ac') S® H
O2dzAlX Ay30e® {LISOATe ljdtyesle FyR LINI ydzYoSN 2N Ge8LXSz Y2RSt aAisS:z
ljdzr yatdé FYyR LI NI ydzYoSNJ 2NJ GelLISz YQRSt“é?\IS FYR YFUGSNAFE F2NJ SIOC
L9® op tndnnHnnc 2N ta dn 1do pky E okwmc
op tndnmnannny EINJ ta dn IAdzc} M MKy E mkn
op tndtbT 2NBAGNIITS Ly SNAZNR YS U S NJ

al

ENAREER:

F

O 2 dzhdf Ao Y1 T & 28X 1Ll 1 p&emppHie My ICz a

S5AGAEAZY 2

52dz8At € S WEIR ENG RByVIE2oNALISYNI Toy2yE 2 8 dO2 Y



al Ay t2e 02 dadh by Frd Ll 1 hdeabpre Msy Cs a

| SADAEAZY 2F 52dz8At (S WK EAG BBMUBONAIYNIToy2yf 28 ®O2 Y




